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I. Choose the correct answer from the following options: (1x15=15)
1. One century is equal to
(a) 100 years (b)10 years (c) 1/100 year (d) 1/10 year

2. The heating elements in heater, toaster etc is made up of an alloy
(a) Tungsten (b) Nichrome (c) Steel (d) Brass

3. South West monsoon wind flows from
(a) Land towards ocean (b) Ocean towards land
(c) Land towards land (d) Ocean towards ocean

4. Which condition is necessary for development of cyclonic storm?

(a) Warm sea temperature (b) Very low pressure
(c) High speed wind (d) All the above
5. Electric bell is based on the principle of
(a) Electricity (b) Electromagnetic induction
(c) Electromagnets (d) None

6. What is not true about an antacid :
(a) it is a weak base (b) it relieves from acidity
(c) it turns red litmus blue (d) it is obtained from animals

7. Which one of the following is used to dissolve noble metals like gold and
platinum :
(a) Aqua regia (b) Alcohol
(c) Concentrated nitric acid (d) Concentrated sulphuric acid

8. The total percentage of fresh water available on the earth is :

(a) 0.01% (b) 0.09% (c) 0.59% (d) 2%
9. Which one of the following should not be drained as waste water in drainage
pipes :
(a) household cleansers (b) medicines
(c) boiled tea leaves and solid food particles (d) all of them

10. Water logging occurs in
(a) sandy soil (b) clayey soil (c) silt (d) humus

11. Which of these structures help in preventing the blood from flowing back?
(a) Capillaries (b)Valves
(c) Arteries (d) Veins

12. The process of transpiration takes place in
(a) Flowers (b) Roots (c) Stem (d) Leaves

13. Mature ovary forms the
(a) Stamen (b) Pistil (c) Fruit (d) Ovule

14. In human beings, most of the nutrients are absorbed by the
(a) Liver (b)Pancreas
(c)Stomach (d)Small intestine

15. Fungi belongs to which of these groups
(a) carnivore (b)decomposers
(c) herbivore (d) scavenger.
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II.
16

17
18
19

20.
21.

I1I
22

23

24
25

Answer the following questions :
. Give a suitable example to show that motion and rest are relative

(1x 6 = 6)

. What is the function of the metal strip in an electric bell?
. How does toothpaste help to prevent tooth decay ?
. Define leaching.

Differentiate between Incisors and Canines

Construct a food chain found in the forest ecosystem
Answer the following questions : (2x9=18)

. An athlete is running with a speed of 10m/s and a cyclist is moving with a
speed of 24km /hr. Who is more faster ?

. (a) Mention any 2 precautions to be taken during a cyclone.
(b) Radha hears about a cyclone in Radio and informs her friends and
relatives to take precautions. What value will you infer from this?

. Discuss the two factors on which wind current depends on.

. Write any one use of the following :
(a) benzoic acid (b) Ammonia
(c) sodium hydroxide (d) tartaric acid

26. How will you distinguish between an acid and a base by using

(a) purple cabbage extract (b) phenolphthalein

27. "Although water found in oceans is not fit for human consumption , it plays

an important role on the earth." Justify.
28. As a future citizen of the country what measures do you feel should be

adopted to conserve our forest resources for the future generations.
29. Differentiate between

(a) Self pollination and cross pollination
(b) Budding and binary fission
30. Complete the blanks in the given table.
ORGAN DIGESTIVE JUICE FUNCTION
Mouth _(a) Break down of
carbohydrates
(b) Bile juice (c)
Pancreas Pancreatic juice (d)

IV. Answer the following questions : (3x12=36)
31. (a) What was the need to measure time?

(b) Name the different types of ancient clocks.
32. What is the purpose of fuse? What kind of substance is used in fuse? What

type of fuse are used in modern days?
33. What is a Tornado? What is the other name for it? What type of wind

movement is seen here?
34. Draw a distance time graph for the given data.

Distance inm |25 |50 75 75 75 125 175 200
Time in sec S5 10 15 20 25 30 35 40

12




35.

36.

37.

38.

39.

40.

35.

36.

37.

38.

39.

How does a septic tank work as a method of low cost sewage disposal ?
Explain it's structure and function with an outline diagram.

What is evaporation? Write any 2 important significances of evaporation in
daily life.

How does deforestation cause soil erosion ?
Explain afforestation and terrace farming as methods of soil conservation.

A sample of soil weighs 35.5 grams when 50 ml water is poured in it in a
percolation pipe. After drying in an oven overnight , the soil is weighed again
and the dry weight is 30.1 grams. Calculate the percentage water holding
capacity of the given soil .

(a) Identify the type of artificial vegetative propogation shown in the fig
(b) Name any other type of natural

type of vegetative propogation. ﬁ
(c) List its advantages with an example. “i'

Explain the role of the following in the human digestive system
(a)HCL (b) Villi (c) Tongue

[P.T.O]

How does a septic tank work as a method of low cost sewage disposal ?
Explain it's structure and function with an outline diagram.

What is evaporation? Write any 2 important significances of evaporation in
daily life.

How does deforestation cause soil erosion ?
Explain afforestation and terrace farming as methods of soil conservation.

A sample of soil weighs 35.5 grams when 50 ml water is poured in it in a
percolation pipe. After drying in an oven overnight , the soil is weighed again
and the dry weight is 30.1 grams. Calculate the percentage water holding
capacity of the given soil .

(a) Identify the type of artificial vegetative propogation shown in the fig
(b) Name any other type of natural

type of vegetative propogation. ﬁ
(c) List its advantages with an example. “i'
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40. Explain the role of the following in the human digestive system
(a)HCL (b) Villi (c) Tongue

[P.T.O]

26. Study the given schematic diagram of blood flow in the of heart and answer

the following questions [ e N
(a) Name the chambers of the heart. N\
(b) Name the blood vessel that carries blood N\
from the lungs to the heart. What ?'[ WX

type of blood is it?

(c) Name the blood vessels that carry blood from f
the different parts of the body to the heart.

27. Plants lose out water throughout the day but
water is essential for the process of photosynthesis
(a) How are plants able to balance the water in their body?
(b) Name the two forces that enable the plant to overcome the above situation.
(c) How are the plants benefitted by the loss of water?
V. Answer the following questions : (5x3=15)
28. (a) Explain with the help of a diagram an activity to make electromagnets
(b) Mention any two applications of electromagnets.

29. (a) What determines the nature of a salt as acidic basic or neutral ? Explain.
(b) Explain neutralisation on the following points :
(i) Definition
(ii) A neat and labelled diagram showing the process.
(iii) A chemical reaction between hydrochloric acid and sodium hydroxide
with formula equation.
30. Draw a neat and labeled diagram of human urinary system and explain their
functions.

B
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l. Name the ruler who patronized T'elugu language. ' [1]
2. Identify the dynasty that had its capital at T'hanjavur ? l sl L}
3. Who were the Banjaras? pli]
4. Define - health? | - | [1]
J. What do you understand by the term medical tourists? - [1]
6. Explain - Retailer? , [1]
/. Name the largest river basin in the world. [1]
8.. In the Prairies, trees are found mostly along the river course. - B

9. Deserts are unfavourable for the thick cover of vegetation, still some plants , shrubs

and trees manage to survive. How? e
10. Explain Shivaji’s administration. A
1 1. What were the reasons for the decline of Mughal empire. Any 3 . |3]

12. The Government of India has taken welfare measure for the betterment of tribals.

What was the need for such special attention? 3]
13. Discuss the role played by media in a democracy. 3]
14, Explain the concept of glass ceiling and reverse glass ceiling. 13 ]
15. Elaborate the factors affecting people’s access to markets. ‘ (3]

16. Why do we say that the traders who set shops in weekly markets have a lot of
benefits? . El

) Identify the tribal queen.
11) Where did her tribe live?

111) How did her tribe become rich and powerful?

| 8. Describe the main characteristics of lropical Rain Forests. ' 3]
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21. Vegetation cover on the surface of the earth is crucial to the survival and growth of a
variety of life forms but human interference has destroyed the natural vegetation. Can we
ensure sustainable development without disturbing the nature. . 3]

22.1) Women are portrayed as heroic figures in the Rajput Kingdom. Discuss
11) Distinguish between the dance forms that originated in Kerala and Odissa.  [2+3]
23 1) Towns and cities have always been a crowded place than the villages. Why?

1) In South India , temples were the centres of multiple nature of activities. Why?

(23]
24 1) Analyse the main features of Shankara’s Advaita philosophy.
11) Explain the features of a Khangabh. 2 13
25 1) Discuss the Constitutional measures that help to ensure health for all. ,
11) Compare public and private healthcare services. _ (23]

26 1) What could be the reason behind public figures featuring in social advertisements ?

11) Identify the kind of advertisement. What are its objectives? [2+3]
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27 i) The media is at times called gendered media. Explain.

At | : : S ; : )4,
i1) Analyse the Constitutional provisions for gender equality. | 2451




28 1) Desp; : - T .

) cSpite the harsh climate, life in the Sahara is quite active .Describe.

1) Development in technology affects means of communication. The vatious means of
cOmmunication have helped in bringing people closer. Explain. [2+3]

29 1) The Amazon Basin is called the’ Gigantic Zoo’. Interpret.
11) The Topography of the Ganga and Brahmaputra Basin is varied and so is the
vegetation. Analyse. [2+3]

30 1) The Prairies are called ‘The Granary of the World’. Discuss.
i) Which mineral deposits are found in the temperate grasslands of Africa? Give
details. {2+3]
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L'his paper consists of :
dection A : Reading 20 marks
Section B : Writing @ 25 marks
Section C : Grammar : 20 marks
Section D : Literature: 25 marks
All sections are compulsory.
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Section A : Reading(20 Marks)

. Read the passage carefully and answer the questions.

|. It 1s interesting to note how different creatures defend themselves when in
danger. The chameleon is a tree lizard, which can change its colour to
camouflage itself by blending it perfectly with its background. The
pangolin’s back i1s covered with overlapping scales and at the slightest
danger it tucks its head between its legs and rolls itself into a ball. The

\ scorpion which is closely related to the spider family has a long jointed tail
with a sting at the end. The scorpion’s sting is said to be very dangerous,
particularly to humans. The porcupine fish’s body is covered with prickly
spikes. When 1n danger it puffs itself up and the spikes stick out. Any sea
animal would get a shock if it tried to eat this ball of prickles.

2. It we begin to think of strange defence mechanisms, the octopus, that has
eight strong rubbery arms, called tentacles, could be described as a real
marvel of nature. Some octopi release a cloud of black ink into the water and
hide in it. Other octopi are cleverer. Instead of hiding inside the ink cloud.
they release 1t 1n one direction and scurry away in another direction, leaving
the predator with nothing but a mouthful of ink. In addition to confusing the
predator’s sense of sight, these ink clouds also confuse their sense of smell
[ an octopus cannot be seen or smelt, it obviously has a much higher chance
of escaping an attack.

3. There are two other devices the octopi use to defend themselves Some
varieties of octopi have the ability to change their skin to the colour and
texture of seaweed or coral allowing them to blend in with their

~environment. And some octopi can shed a little limb and regrow 1t later as a

lizard can regrow its tail. If a predator catches a tentacle, the octopus sheds it
immediately frees itself and swims away. Of course, it grows another
tentacle later to replace the lost one. Isn’t that Interesting?
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IA)  Answer the following questions briefly

1) What is common to a chameleon and some octop1? (2)

i) How do other octopi use the cloud of black ink they release? (1)

iii) What is covered on a pangolin’s back and how does it protect itselt? (2)

IB) Complete the following; (1x3=3M)

1) [f'an octopus cannot be seen

1) The porcupine fish defends itself in danger

111) When a predator catches a tentacle

LC) Find words in the passage having the same meaning for the given
phrases. (1/2x4=2)
) the ability to hide oneself by blending with the background (paral )

l)astonishment (para2)

1) any animal that lives by preying on other animals (para 2)

1V) protect or act against an attack (para 3)

2. Read the poem carefully: (1x5=5)

THE PEDDLER'S CARAVAN

[ wish I lived in a caravan,

With a horse to drive, like a peddler-man!
Where he comes from nobody knows,

Or where he goes to, but on he goes!

His caravan has windows two,

And a chimney of tin, that the smoke comes through;
He has a wife, with a baby brown,

And they go riding from town to town.

Chairs to mend, and delf to sell!
He clashes the basins like a bell;
Tea-trays, baskets ranged 1n order,

Plates, with alphabets round the border!

The roads are brown, and the sea 1s green,
But his house is like a bathing-machine;
The world 1s round, and he can ride,
Rumble and slash, to the other side!
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a book w hen | came home:

ople would read my book,

Just like the Travels ol Captain Cook!

William Brighty Rands [1823-1882]

Answer the questions | |
he questions by choosing the right option:
1) 'he pedlar-man

a) 1s a wealthy merchant. b) is a thiet
¢) mends chairs and sells petty things d) One who has wealth.
11) The pedlar-man’s wife cooks food

a) mnside the caravan b)on top of the caravan
¢) on the road d) in a house
111)A caravan is
a)ahut  b)aboathouse c¢)apalace d)ahouse on wheels.

1v)The pedlar-man

a)has a permanent home b) lives on rent
¢) leads a nomadic life d) none
v) When a traveller writes about his experiences ,the piece is called
a) a travelogue b) an encyclopaedia c¢)an atlas d) a novel

3. Read the following passage and answer the questions that tollow.
(1 x3=))

Reflecting on his cricketing career, legendary batsman Rahul Dravid has said that
playing for India has humbled him. ‘It made me give joy to a lot of people by just
playing the sport I love. I have experienced, like 1 said, great joy, 1 have
experienced some unbelievable victories and I have experienced crushing deteats
in my career as a first-class cricketer. What 1 have realized with 1t 1s that
everything does pass and we can endure and we can survive. It made me appreciate
how lucky I was to be able to do what I did for so long’, said Dravid. He expressed
his gratitude towards his seniors whom he considered his heroes.

‘As a young boy I dreamt of just getting an autograph from them and just be ablc
to meet them! This sport and this game has given me a chance to interact with
some of them,’ Dravid said. ‘Here I would like to thank all my senior cricketers
all my heroes, all my role models, for inspiring me, for leaving behind a legacy
that I was very conscious of,’ he added.

Dravid hailed the contribution of all those people who acted as the backbone ol the
[ would like to put on record and

Cres 11] L“Ll\k k U[Olll]ti\ MEn, SCOrers.

game making any cricketing event successtul. *
recognize the people who work behind the

3




Umpires, people who organize the game. Wherever e In Indla,,- the‘le are sq
Mmany people who selflessly do honorary jobs to make this game possible f(?l‘ us, to
set the stage for us. Without their contributions, these hundreds \'?voul,d Stil] ‘ha\’e
been possible but these memories for me would not have been possible,” he said.

1) Dravid expressed his gratitude towards his heroes because they

a) explained the rules of cricket b) humbled l:lim |
c) left behind a legacy he was very conscious of d) made a cricketing
event successful

i.)  The two contrasting things Dravid experienced in his career were

a) Joy and sadness b)unbelievable victories
and crushing defeat
c) selfishness and selflessness d) all of the above

111)  The word that means ‘we can continue for long’ IS
a) humility b) survival c¢) possibility d) availability.
Iv)  The word that refers to people who make a cricketing event successful is

a) Groundsmen b) backbone ¢) heroes d) seniors

v)  He was inspired by
a) all his seniors b) his role models

¢)his umpires d) all his role models, his seniors and his heroes .

Section-B: Writing (25 Marks)

4. You are Headboy/Headgirl of your school. Draft a notice for your school notice-

board about the weeklong trip to Dehradun in not more than 50 words giving all

the necessary details. Sign yourself as Roopa/Rohan. Put the notice In a box.

(4)
>.Imagine you are the ‘Coin’ . Write an autoblography of 120 words.

(6)
6. Write a letter to the Principal of your school seeking permission for a day’s
absence to enable you to attend the wedding of your sister/brother.

(7)

.Complete the given story. Suggest a suitable title for the story. (150 words)

(8)
Section- C Grammar (20 Marks):

8. Write the correct form of the word given in the brackets to complete the
passage. (1/2 x 8 = 4)

Thieves were (a) _ (hold) the manager of the Ridgeway Hotel at gunpoint
last night. During the sdaring raid in which they (b) (take) nearly 50,0000
from the hotel safe. They also (c) _ (break) into several rooms and (d)




_ (carry) away
through the Kitchen

articleg

OI great value .The thieves made their escape
Where they (e) |

o damage), several equipments.
They also (f) (ITUE) ther e e e SRS S
(o SN . Jure) the chef when he tried to stop them and (g)
:lE- e .h. YN NN F - ’ - -
0im lying unconscioys on the floor. The Police(h ) (arrest) the

thieves early in the morning.
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I'here is an €rror i each line in the tollowmg paragraph against which a

blank space 1s given. Underline the error and write your correction from the

given options in the Space provided. (Y2 x 8 =4)

Are you afraid with my dog, spot? e.g of

No , not when he’s on his kennel a)

[ am afraid of him only when it runs behind me! b)

Spot runs through children when C)

he wants to play by them. He can do tricks d)

and run errands to us .When I throw a bal] e)

up in the air, he catches it before it fall f)

below the ground. Every morning, he holds the newspaper g)

into his teeth and leaves it on Grandma’s bed. h)

10. Complete the passage with appropriate words. (12x8=4)
Most UFO sightings occur (a) night, either late in the evening or in the
early hours of the morning. (b) , they take place on a dark moonless
night when the person (c) alone on a country road. This eerie
atmosphere 1s perfect (d) playing tricks on a person’s imagination.
Police and newspaper officers are often swamped (e) calls when
something strange is seen in the skies. (f) an explanation is given,
most people are happy to accept it. But (g) people are hard to convince.

However, with (h) ____sightings, the interest is increasing.

11. Choose the sentence that has been written in passive voice appropriately
and write your answer in your answer script. (1 x4 =4)

a) Rimi made a special cake for everyone
1) A special cake by Rimi was made for everyone.
11) A special cake was made by Rimi for everyone.
111) Everyone ate the special cake made by Rimi.
1v)A special cake for everyone was baked by Rimi.

b) T'he creator of a comic book thinks of a theme.
1)A theme is thought of by the creator of a comic book.

11)A theme was thought of by the creator of a comc book.
111)A theme is thought of by the creator of the com:c book.

tv)The theme was thought of by the creator of a comic book.




" ine store.
¢) You can download the e-book from an online sltoadEd
1) From an online store the e-book could be downlo :

11) The e-book can be downloaded from the online store.

111)The e-book can be downloaded from an online stoll\ e,
iv) From an online store you can download the e-booK.

d. The customers formed a queue.
1) A queue is formed by the customers.

11) A queue was formed by a customer.
111) The queue was formed by the customers.
1IV)A queue was formed by the customers.

eaningtul

12. Rearrange the following group of words and phrases to make n’l(1 =)
X4=

sentences.
T'he first one has been done for you

a) pan/take/three/of water/in cups/a
Eg: Take three cups of water in a pan.

b) till /the water/put/heat/on the/ pan/the/boils/stove/and

c) and/ tea leave/ the heat/to/ lower/the water/add/tea spoons/two/of
d) for/let/simmer/two minutes/ the water/ more

e) into/sugar and milk/now/the tea/three cups/pour/add/and

Section D: Literature ( 25 Marks )

13. Read the extracts and answer the questions. Question A and B should be
answered by choosing the right option. 3x3=9)

13A. No Mr. Gilchrist, Sir, I never said a word — not one word!
1) Who is the speaker of the above sentence?

~a) Mr. Watson. b) Mr. Bannister
¢) Mr Soames. d) Mr. Holmes
1) What is the speaker referring to in the above sentence?
a) the pencil shavings on the floor  b) the tea tray was not in his hand

c) his own illness d) the leaked question paper
iii) Why would he not say anything?

a) He was shocked b) He was disappointed

c) he was loyal d) he wanted to be punished

13 B. The waves beside them danced; but they
Out-did the sparkling waves in glee:
A poet could not but be gay,
In such a jocund company:

y—

1) What is the figure of speech used by the poet?
a) Personification b) Metaphor

¢) Simile d) Repetition




1) What is it that has m
a) The clouds
¢) The lake

1) What is the wealth the poet is speaking about?
a) 1llusion

ade the poets so gay?
b) the“stars

d) the daffodils

b) melancholy
¢) pleasure d) friendship

13C. “Why does your face shine so? And why have you smiled only these
three times?

a) Who is the speaker?
b) Why did his face shine so?
¢c) Why did he smile only three times?

14. Answer any 4 of the following questions. (2x4=218)

a) What does the narrator mean when he says ‘I know now, we were never richer
than we were at the moment when Dad made that phone call’?

b) What is it that finally turns Joe’s tragic failure into a funny dinner?
c) What was the central character’s mission? How did he plan to accomplish it”
d) What effect did the ‘host of golden daffodils "have on the poet’s feelings?

e) Why did Michael cut the nobleman’s leather into two?

15. Answer any one of the following: ' (8)

That’s easy enough and I like the idea. I'm longing for something to do’. Write the

character sketch of Jo based on the above dialogue. (Word Limit: 100)
OR

Imagine yourself to be Gilchrist the scholar and athlete. Write a diary entry about

how you felt in 100 words.
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